Chapter 21 Pretest (+1)




Name _______________________

Neutralization

Section 21.1: Neutralization Reactions

1. What is the molarity of a NaOH solution if 38 mL of the solution is titrated to the end point with 14 mL of 0.75M H2SO4?

2. If 24.6 mL of a Ca(OH)2 solution are needed to neutralize 14.2 mL of 0.0140M HC2H3O2, what is the concentration of the Ca(OH)2 solution?

3. A 12.4 mL solution of H2SO4 is completely neutralized by 19.8 mL of 0.0100M Ca(OH)2.  What is the concentration of the H2SO4 solution?

4. What volume of 0.12M Ba(OH)2 is needed to neutralize 12.2 mL of 0.25M HCl?

5. A 55.0mg sample of Al(OH)3 is reacted with 0.200M HCl.  How many mL of the acid are needed to neutralize the Al(OH)3?

6. Calculate the equivalent of KOH in 4.20 L of 1.20N KOH.

7. What is the normality of 0.40M H3PO4?

8. What is the normality of 1.50L of solution that contains 24.6 g HCl?

9. How many mL of 0.250N H2SO4 are required to titrate 68.0 mL of 0.110N NaOH to the end point?

Section 21.2: Salts in Solution

1. A buffer solution is prepared by mixing together equal quantities of HCHO2, and NaCHO2.  Write equations that show what happens when first acid, and then base, is added to this buffer solution.

2. Write the solubility product expression for

a) Ca(OH)2




b) Ag2CO3
3. What is the concentration of silver ions in a saturated solution of Ag2CO3? Ksp of Ag2CO3 = 8.1 x 10-12
4. The equilibrium concentration of OH- in a saturated solution of Fe(OH)2 is 1.2 x 10-5 M.  Calculate the Ksp of Fe(OH)2.

5. SrCO3 has Ksp of 9.3 x 10-3 at 25(C.  What is the concentration of Sr+2 in a saturated solution of SrCO3?

6. What is the equilibrium concentration of Ag+ in a 1.0L saturated solution of Ag2CO3 to which 0.20 mol of Na2CO3 has been added.  The Ksp of Ag2CO3 is 8.1 x 10-12.

7. Will precipitation of CaCO3 occur when 500.0mL of 4.2 x 10-3M CaCl2 is mixed with 500.0mL of 2.6 x 10-3 M Na2CO3? The Ksp of CaCO3 = 4.5 x 10-9.

